Open Book Quiz - Ch21 Electric Charge

(Duration: 30 minutes)
1. (60 pts) A point charge ;=8 nC is at the origin and a second point charge
q>=12 nC is on the x-axis at x=4 m. Find the net electric force they exert
on ;= 5 nC located on the y-axis at y=3.0 m in vector notation, magnitude

and angle. . e
?;,:'_ .
2w E g 2 =
WSO 3 Il =y 41,
i 32 =y
. » J'FL:LL": L Jl‘i‘ﬁ_u‘?qﬁ r@m’i ]iaﬂrﬂgﬂﬁfﬁu f
i g e G
= =2 - ~¥ prec
i - TARIO N ~Fy = i jN(F)

=2 e *_HZ | =k 1914
&2 ET| 22l = I}.:_J F@’N‘ ztﬂ',a»_-”) ~§A=’Dc‘“1-?~!”3f‘
; s e e
i | \332{5’ :..’?rfé,@f{fﬁfﬂi__ 9 { &)

"@i}‘ féff[m,'q (:0=3 .08 E‘fz;_y; 2-!&;{2%{%:_;__%;1{
fﬁ%z ff;y'lfm.c F,-z:g:hﬁ_ﬁg %mi 1.}5’;;9’,{{% PR
I e S Y T W)
me" f?%xfamr{hf/éwo%#faxmﬂ) P 1730 Iur- )7..5_51,@?%3
wagf Lh;wﬁm,amwm EM’ e
Iy g

(’ = _32¢

= T
5, nod

o

2. (40 pts) Particle 1 with charge q;, and particle 2, with a charge q, are on the x-
axis, with particle 1 at x=a and particle 2 at x=-2a. For the net force on a third
charged particle, at the origin to be zero what must be the ratio q,/q,.
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Open Book Quiz - Ch21 Electric Charge

(Duration: 30 minutes)

1. (60 pts) What is in vector notation, magnitude o
and angle of the net force on Q=-45nC? p 3cm =y
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2. (40 pts)Three point charges are arranged along the x-axis. Charge q;=3.00 nC

is at the origin, and charge q,=-5.00 nC is at x=0.200 m. Charge q;=8.00 nC.
Where is g3 located if the net force on q; is 7.00 N 1n the -x direction?
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Open Book Quiz - Ch22 Electric Fields

(Duration: 30 minutes)

1. (100 pts) Semicircular wire shown in figure below 1Y
has a  non-uniform  charge  distribution
M0)=AoCos0. Find the electric field at point P in
unit vector notation and in terms of total charge Q.

Hint: I Cos® ax dx=x/2+Sin2ax/4a
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Open Book Quiz - Ch22 Electric Fields

(Duration: 30 minutes)
1. (100 pts) Semicircular wire shown in figure below 4y

has a  non-uniform charge  distribution
M0)=AoCos0. Find the electric field at point P in
unit vector notation and in terms of total charge Q. P

Hint: I Cos® ax dx=x/2+Sin2ax/4a k -
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Open Book Quiz - Ch26 Current and Resistance
(Duration: 30 minutes)

1. (100 pts) The magnitude J of the current density in a certain lab wire with a

circular cross section of radius R=5.00 mm is given by J = (2.00x10")r*, with J
in amperes per square meter and radial distance r in meters. What is the
current through the outer section bounded by r=0.800R and r=R?
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Open Book Quiz - Ch26 Current and Resistance

(Duration: 30 minutes)

1. (100 pts) The magnitude J of the current density in a certain lab wire with a
circular cross section of radius R=10.00 mm is given by J = (4.00x10")r*, with
J in amperes per square meter and radial distance r in meters. What is the
current through the section bounded by r=0.400R and r=0.800R?
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Open Book Quiz - Ch27 Circuits
(Duration: 30 minutes)

2. (100 pts) Find L 2R
1) the current in each resistors ' Rl
ii) Regy o E Lk 2R I=0%
iii) power dissipated at R. ']'
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Open Book Quiz - Ch27 Circuits

(Duration: 30 minutes)
3. (100 pts) Find

i) Regy
ii) the current in R‘, “5'4 'EUW
each resistors eV 2.2 Kg=50vL
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